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#include <stdio.h>
int main|()

{

int amount, coin;

scanf ("%d", &amount) ;

coin=amount/10; //¥8107CHYTEES . 118/10. . .11
amount=amount%10; //FTRYEE - 118%10 ... 8
printf (" $d 5\n",coin) ;
coin=amount/5; / /185 cAY RE L
amount=amount$5; //FIFNRYEE
printf (" $d 5\n",coin) ;

coin=amount; / /181 cAYREER
printf (" $d 5\n",coin) ;

return 0;
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#include <stdio.h>
int main ()

{

int amount, coinlO, coinb5, coinl;

scanf ("%d" , &amount) ;

coinlO=amount/10; // £ F10~ ol R
coinb5=(amount%10) /5; [/ T g R S5 R
coinl=((amount%10) %5)¥L; //&EFINE&F 2851~
printf (" %$d “\n",coinlO) ;

printf (" %$d “\n",coinb) ;

printf (" %d “\n",coinl);

return 0;
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#include <stdio.h>
int main ()
{
int n;
scanf ("%d", &n) ;
printf("%d %d %d4",n/10,n%10/5,n%5) ;
return 0O;
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#include <stdio.h>
int main()

{

int amount,d500,d100,d50,d10,d5,d1;

rintf("Hw £E:") ; _
P ("4 ) printf ("%d{E5007T

scanf ("%d", &amount) ; \n",d500) ;
Prlntf(nEEEﬁ;;ﬁ@ . n) ; pr\lnrt;tfdl"ooodjﬁloom
d500=amount/500; printf "°d}%507‘5§n" ,d50) ;
_ o . printf ("%d41lEg107c\n" ,d10) ;
d100—(amount6500)/100 prlntf "°dﬂﬁ|57‘|:\n" d5)
d50 =((amount$500)%100)/50;  printf("$dfEl1Jc\n",d1);
return O;

dlo0 —(((amount°500)0100)050)/h0
d5 =((((amount%500)%100)%50)%10)/5;
dl =(((((amount%500)%100)%50)%10)%5) ;
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#include <stdio.h>

int main()

{

int amount,d500,d100,d50,d10,d5,d1;

rintf("Hw £E:") ; _
P ("4 ) printf ("%d{E5007T

scanf ("%d", &amount) ; \n",d500) ; -

printf ("[EEEKE: ") ; pr\lnrt'tfd (1"0%Od;ﬂ§|1007|:

d500=amount/500; printf ("%d}%SOZﬁin" ,d50) ;
_ o ] printf ("3%diE1070\n" ,d10) ;

dl00= (amount6500) /100 ’ prlntf "%d‘ESLE\n" ,d5) ;

d50= (amount%100)/50; printf ("%dfEl17C\n",d1) ;

return O;
dl10= (amount%50)/10; }

d5= (amount%10)/5;
dl= (amount%)b) ;
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#include <stdio.h>
) ] ° B ﬁ/,\—,'—l—/
int main() (Greedy Algorithm)

{

int amount : = F€ -
int price[6]= {500 100,50,10,5,1},1i,num;
printf ("kEIEE:");
scanf ("%d", &amount) ;
printf ("[EEEKE:") ;
for (1=0;i<6;i++) {

num = amount/price[i];

amount %= pricel[i];

printf ("\n%d{E%dJc" ,num,price[i]) ;

}

return 0O;

}
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